	   double precision function f( a )

      implicit none

      double precision a

          f = 4.d0 / (1.d0 + a*a)

          return

      end

!

!

!

      program main

      implicit none

      include 'mpif.h'

      include 'mpe_logf.h'

      double precision  PI25DT

      parameter        (PI25DT = 3.141592653589793238462643d0)

      double precision  mypi, pi, h, sum, x

      integer n, myid, numprocs, ii, idx

      double precision f

      external f

      integer event1a, event1b, event2a, event2b

      integer event3a, event3b, event4a, event4b

      integer ierr

c      ,MPE_Log_get_state_eventIDs,MPE_Log_get_solo_eventID

c
integer MPE_Describe_state,MPE_Describe_event,MPE_Log_event

      call MPI_Init( ierr )

      call MPI_Comm_rank( MPI_COMM_WORLD, myid, ierr )

      call MPI_Comm_size( MPI_COMM_WORLD, numprocs, ierr )

      print *, "Process ", myid, " of ", numprocs, " is alive"

! Demonstrate the use of MPE_Log_state_eventIDs() and MPE_Log_solo_eventID()

! which replace the deprecated function MPE_Log_get_event_number.    

!

      ierr = MPE_Log_get_state_eventIDs( event1a, event1b )

      ierr = MPE_Log_get_state_eventIDs( event2a, event2b )

      ierr = MPE_Log_get_solo_eventID( event3a )

      ierr = MPE_Log_get_solo_eventID( event3b )

      ierr = MPE_Log_get_state_eventIDs( event4a, event4b )

! Demonstrate the use MPE_Describe_event() to describe single-timestamped

! drawable, i.e. event.  Caution: One can use MPE_Describe_state() instead

! of 2 MPE_Dresribe_event() calls.  The difference is that one will see

! one state instead of 2 events.

      if ( myid .eq. 0 ) then

          ierr = MPE_Describe_state( event1a, event1b,

     &                               "User_Broadcast", "red" )

          ierr = MPE_Describe_state( event2a, event2b,

     &                               "User_Barrier", "blue" )

          ierr = MPE_Describe_event( event3a, "User_Compute_Start",

     &                               "orange" )

          ierr = MPE_Describe_event( event3b, "User_Compute_Final",

     &                               "orange" )

          ierr = MPE_Describe_state( event4a, event4b,

     &                               "User_Reduce", "green" )

          write(6,*) "event IDs are ", event1a, event1b, ", ",

     &                                 event2a, event2b, ", ",

     &                                 event3a, event3b, ", ",

     &                                 event4a, event4b

      endif

      if ( myid .eq. 0 ) then

!         write(6,98)

! 98      format('Enter the number of intervals: (0 quits)')

!         read(5,99) n

! 99      format(i10)

          n = 1000000

          write(6,*) 'The number of intervals =', n

!         check for quit signal

!         if ( n .le. 0 ) goto 30

      endif

      call MPI_Barrier( MPI_COMM_WORLD, ierr )

      do idx = 1, 5

          ierr = MPE_Log_event( event1a, 0, '' )

          call MPI_Bcast( n, 1, MPI_INTEGER, 0, MPI_COMM_WORLD, ierr )

          ierr = MPE_Log_event( event1b, 0, '' )

          call MPI_Pcontrol( 0, ierr )

          ierr = MPE_Log_event( event2a, 0, '' )

          call MPI_Barrier( MPI_COMM_WORLD, ierr )

          ierr = MPE_Log_event( event2b, 0, '' )

          call MPI_Pcontrol( 1, ierr )

          ierr = MPE_Log_event( event3a, 0, '' )

          h = 1.0d0/n

          sum  = 0.0d0

          do ii = myid+1, n, numprocs

              x = h * (dble(ii) - 0.5d0)

              sum = sum + f(x)

          enddo

          mypi = h * sum

          ierr = MPE_Log_event( event3b, 0, '' )

          ierr = MPE_Log_event( event4a, 0, '' )

          pi = 0.0d0

          call MPI_Reduce( mypi, pi, 1, MPI_DOUBLE_PRECISION, MPI_SUM,

     &                     0, MPI_COMM_WORLD, ierr )

          ierr = MPE_Log_event( event4b, 0, '' )

          if ( myid .eq. 0 ) then

              write(6, 97) pi, abs(pi - PI25DT)

 97           format('  pi is approximately: ', F18.16,

     +               '  Error is: ', F18.16)

          endif

      enddo

      call MPI_Finalize( ierr )

      end

	--------------------Configuration: fpi - Win32 Debug--------------------

Linking...

fpi.obj : error LNK2001: unresolved external symbol _MPE_LOG_GET_STATE_EVENTIDS@8

fpi.obj : error LNK2001: unresolved external symbol _MPE_LOG_GET_SOLO_EVENTID@4

fpi.obj : error LNK2001: unresolved external symbol _MPE_DESCRIBE_STATE@24

fpi.obj : error LNK2001: unresolved external symbol _MPE_DESCRIBE_EVENT@20

fpi.obj : error LNK2001: unresolved external symbol _MPE_LOG_EVENT@16

Debug/fpi.exe : fatal error LNK1120: 5 unresolved externals

Error executing link.exe.

fpi.exe - 6 error(s), 0 warning(s)


